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@& (1 - 5) : AT J=THRT &
TIYdh YT F dUT AHER TaAl &
3c Gl

dicg STFd &l AR dfaddr & 86 § Icdd
g9fFq & @rg @ & 9fFa 1 § A, B, C, D,
E, F 3R G 35 8, goToht H@ f&I0r 1 3R &
amuFa 2 #F P, Q, R, S, T, U3dARV IS
g, ST HW 3 H IR & (Afhed 3Taeash
el & 5 s 7 & &) D 3R ag =afFa o
U & Rula dor § & &g de <afea 88 &
G 3R D & &g ar =afFa 85 &1 B 3R A
S F fr g€ 3R Yo & & 9 i afaa 3o
& E 3R P tohgm¥ & Rudd & 83 & 7%
MG AT dor g, T A I T 3y
doar &1 R 3 Q & &7 o =afaqd 83 &1 F,
R & fQudd «¢r o1 gl F dfda & #eg &
Joar gl ag, M FF AT dor &, ST =
T 3 d&ar g1 U, S ¥ IR TUH 39T
Yo &I SN TH RAAT doT ¢, ag C T ar
U @ ot &1V, P F1 & 3R Soar B

1. St =afdd C & Ruda dor § 386 g 3]
Rpcat oo 4% &2

.U g e

rir

T

IR

feiRe 18t fovam S Fehar

moow>»

2. 5T # @ *ld V & v faudia Ser
&7
A.dg TF3IRAF T doT &

B. 98, o aIfgel ®R ¥ W TUH W JoT §
C. dg, S F &I a8 3 & g@ T W Jar
g

D. g, St A &1 8% 218 3R T &

E. 3987 & &I 18T
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3.3 D, T & @& § 3R C, R & wafda
¥ ar s oy, S e # @ FEw g@&fed
87

gg, Sl alfge BR ¥ TS TIH W a7 §
gg ST G & 910 & Y TUT o o7 §
.98, S D @ T TA I Yot ¥

.G, AFIREFad dor g
ke a6r frar ST Fehar

moo o>

fava 9g AT H|
E, R
Q, A
C, S
S, A
R, E

moow>»»

A& (5 - 7) : A & 78 IAEAFRT FT 3eTIA
F 3R 30 W ImuiRa wRaAT F IW &

s FFTI M, N, O, P, QR S3IRT =
SoRaR F @ew @a &1 T, S & ®ar &1 Q,
T A E O, T FT &S &1 R, O & 3ihel
S P,MA sgT &8I M, SFHaer gl R M
& oS gt &1 N, O v amelr |

5. afd N &7 ThA 97 § AR Tholld el
g, S a0 Fg yerR g §2

A. #AST

B. 9

mo o

moow>» o
B
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7. &A1 83256479 H Uge 3R drd e &
T 3198 H dael &1 FAW 96 & X 3R
Bod 3 & T WOH A ded & AR 3w
f s YHR 3 & TAW Teod W@ ar
TYIEATIT & §1¢ AFATli@d H & i gifget
BN ¥ ¥Idd 3% & gifgel e gram?

A 3

B. 4

C. 7

D. 9

E. 518 ¥ FIg el

R T & W IEEl @ caeEe
T HY JUT SHK 3TUR T I@AT & ek
gl

Sg ARt P, Q, R, S, T 3R U & #R 37el9T-
T §l S gE A W HE JfUE HRY §
3HHT dotel 72fRam. § 3N S gEY T W
Y godl ¢ 39T dold 55fR.am. &1 P, R &
AT AT T & ool &1 Q & ARY el &
TEAT, P O o ool T T&AT & T & gl
R ¥ godhl cAfdd =gl gl T & doiet
69fF.am. &1 S e HIY AT &l

8. P &1 Teifad aoial AT & Hhdl 87
A. 71f%.am.
B. 70f%.am.
C. 62fF.am.
D. 54f&.am.
E. 51f.am.

fhder &9 T T Q & 31 &2

moow» o
A W N = O

IBPS RRB 2020

$

gradeup

fader: T St &1 eaeTaE e At
3R fw IrT geat & 3R

gl HR EART 391 B F 391 JAhE S
¢l g8 fdg A @ g waTar B g8 afaror #r
3R 5 Tl grsd el & 3R fdig B X wgwrar
g, Y @8 31er e 3T ¢ 3R 4 el gred
# § 3R &g C R ugaar B 9 aF 3w
el T § 3R 12 el gsa R Mg D W
qeadT &| 38§ g STC 73T ¢ 3R 5 fopelr
g18d Y foig E N 9gddm ¢ 37d # I8 afaror
T AR 7 et 389 AXar § 3R 39 3R
% FEId &l

10. I Tger 3T BT & g fGam 7 5
foraly wrerer &, o @ foig D & fohcelr ¥ 3R
g feem & gem?

A. 7 e, gfgror

B. 4 f&a, 31

C. 1 s, gfgyor

D. 5 f&dI, 3

E. 517 & 15 el

fAd&er (11 - 15) : Q= us-aet & & 3R
fArfafd 2=t & 3@ <
2017 #, 5 &3 -A, B, C, D 3R E garr &ad
ar wohR - e 3R THsT & S[ar @1 faHtor
A £

A ag-ae # Qe 5 st ganr AfAa o
(Ridfes 3R wwen) &1 wfaera fear @ &)
fafAa fdfes 3l aw8 & S & Fo wewr
= 12000

A g # Ru 5 §ist garr RAT T
& S &1 gfaerd e g
fAfAd o518 & S v T wEwr = 4800
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D

12%
C
20%

11. 2017 #, Th 37 &5 F & 1152 983 &
SId &1 AATOT foRar 3R I 3H eanT fAfdd
fHAfeh Sd H FEar d 20% HA gl 5T 6
Siet gary faffa fHafes S i $or dear A
¥, sis F eart A e s @ gfderd
T 82

A. 20%
2

B. 163%
C. 12.5%
D. 10%

E. 51 ¥ FIg el

12. st A, D 3R E g@rr AffAq f&dfes s
f JEa dETr Far §2

A. 1600

B. 1750

C. 1800

D. 2000

E. 518 ¥ FIg el

13. a¥ 2018 #, sis A canr faffa s
(FAfeeh + =As) & For HEAT Mool a¥ &
et 7 25% 3 g1 afe a¥ 2018 #, §is
A gar faffia aas & S & dear fais
S @1 g # 876 @A g, dr a¥ 2017 3R
2018 # s A canr fafAq fdfes S &
TEIT T I &

A.5:6

B.2:3

C.4:5
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D.8:9
E. g8 @ &I et

14. T @l #H, 40% o SN g I
e &1 U BT # 48% dsH § IR U
orsfohdl T Fear 9828 &, df @idel # omEl
& Fel TEAT AT H

A. 24500

B. 31500

C. 28900

D. 32500

E. 517 & 15 el

15. 9 |Tel 9gel A T 3Mg B I 3g dr
3.2 AT ¥ 7 @iel SE A 3R B 3y H
37gareT 20:9 gl A 3R B T AT Y T
AT AT HL

A. 63 a¥

B. 73 a¥

C. 53 aw

D. 43 a¥

E. 517 & 15 el

16. A, B 3R C &I 3mg &r AT 106 a¥ ¢
aur A 3R B @I 3G @ Ier 78 a¥ gl I
A #T 3 32 a¥ g, dr C 3R B & 3G &
A AT R

A. 4 a¥

B. 14 a¥

C. 18 a¥

D. 16 a¥

E. 517 & 15 el

fader fof@a Sl &1 caegEs
YT HE AT AT F e

AT 9hR & gge, il AR AT AR &
FeT 30000 JRERRT & 30000 ARFAAT (8T
AR Afgemsit) & faaRa far s g1 gest &
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TEIT ST q8RT REDR U i § Ul gest
I HEIT ST AT RERR IIed d & M
AT 3:8 &1 IS 3R AfRen3it Hr For wEAr
fSgle @ &R gred faar § 7500 &
T 13000 AW § oegia @ 3R e
WERR 9Ied fhar @1 egfFaar & dear
fSiegia ggell RERR ured fomar § safaraat &r
qeg fSeglel T QEhR gied R & @
2/5 &Y Jefell 7 600 FH g1 gest AR Afgeait
BT ol TEAT fSeglel GERT RERR gree fhar
€ 7500 ¥l Us @Y Ygell AR gl &R
gIed A arel TS H Pl FEIT Th AT
Ugell 3R GERT GEHR U HA  arelr
AGET T Fol TEAT & 500 A Tl

17. 1S 8 [REHR 1o HA drel gost
T HEAT AT FR?

A. 13500

B. 12500

C. 14000

D. 13000

E. 51 ¥ FIg aal

18. afe ggel, gAY R M RERR & 3¢
500 ¥9d, 300 ¥ 3T 200 TWX 9read B
g, o gest 3R A3 garT 9o For TEHR
Tfr & 37X 41 g2

A. 7.50 oM@ T9I

B. 6.15 oM@ ¥4

C. 8.05 oM@ T

D. 8.15 &@ ¥4I

E. 518 ¥ FIg dl

19. U SFH A 7 1 11 & 39d # & 3R
dTel 9T T AT g1 Ife 9cds W1 & 12 9
#r fAdrer foram Srar g, o sk 9 & drel
Ut @ 3T 11 1 19 81 ST &1 YR el
OeT I T&AT FT 72
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A. 56
B. 64
C. 48
D. 72

E. 517 & 15 gl

20. 3 a9t H r% H T & 25,000 TT F
HeTtrel X 31TSTeT HIROT STST, HeTere T x/20
g, P F @ e ar e @7

A afgr=10% @ X=3

B.afgr=15% arX=9
C.afer=308% arX=15
D.afgr=5% ar X =2

E. g8 @ ®Ig et

Direction (21 - 30) : Read the given
passage carefully and answer the questions
that follow. Certain words are printed in
bold to help you locate them while
answering some of these.

Scientists don't know why it happens, but
tales of dolphins befriending humans reach
far back into history. Aristotle wrote
offhandedly about dolphins’ "passionate
attachment to boys", as if everyone just
knew this as a fact. In the year AD 77,
Pliny the Elder recounted the story of a
dolphin named Simo who formed a bond
with a boy who fed him bits of bread, giving
him rides in return.

When you consider how risky it is for
dolphins to spend time in close proximity to
people, it is all the more intriguing that so
many human-dolphin stories have similar
themes: dolphin seeks out man, dolphin
wants to play with man, dolphin assists
man, dolphin rescues man. If dolphins didn't
already have such a well-established
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reputation for showing up like Superman in
the third act, it would be impossible to put
their behaviour into context. But there are
centuries and even millennia of tales of
their generosity towards the awkward two-
legged creatures they encounter who are
so out of their element.
In the book Beautiful Minds, biologist
Maddalena Bearzi recalls tailing a pod of
bottlenoses on one grim, foggy morning
along the coast of Los Angeles, as they
herded a huge school of sardines. If there
is anything that commands a dolphin's
attention it is a mother lode of fish, so
Bearzi was surprised when one suddenly
broke away from feeding and
(A) to sea at top
speed. The rest of the pod followed; so,

did Bearzi and her crew. The dolphins
arrowed about three miles offshore and
then they stopped, arranging themselves in
a circle. In the centre, the scientists were
shocked to see a girl's body floating.
Tales like this are remarkably common and
surfers, in particular, seem to benefit from
dolphin non-interference. When Todd Endris
was bitten three times by a great white
shark near Monterey, California, dolphins
drove off the marauder, formed a ring
around Endris, and escorted him to the
beach. Australian Dave Rastovich,
straddling his board waiting for a wave, was
astonished to watch a dolphin hurtle itself
at a shark that was torpedoing towards him,
sending it fleeing.

What to make of these stories? One point
worth noting is that dolphins often behave
towards us in the same ways they do
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towards one another. In the dolphins'
nomadic undersea world, solitude equals
vulnerability, so a lone human in the water
must seem to them direly in need of
assistance. But their consideration of us
isn't limited to emergency situations: at the
Tangalooma Island Resort in Australia,
where wild bottlenoses are regularly fed fish
by people standing in the shallows,
biologists have documented - on 23
occasions - the dolphins reciprocating,
swimming up to offer freshly caught tuna,
eels, and octopi as gifts.

In other words, dolphins do not always
differentiate between us and them.

Source:
https://www.independent.co.uk/environment/
nature/dolphins-often-seem-to-want-to-
befriend-us-do-they-know-something-we-
dont-10493809.html

21. Which among the following is TRUE
according to the passage given above?

A. Maddalena Bearzi, a biologist, along with
her crew, remembers tailing a pod of
bottlenose dolphins on one morning along
the coast of Mexico.

B. The dolphins led Maddalena Bearzi and
her crew to a spot where they discovered
a floating body of a girl.

C. Dolphins are scared of humans and they
hide as soon as they see a human in their
vicinity.

D. Both A and C

E. Both B and C

22. Which among the following is FALSE
according to the passage given above?
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A. Tales of dolphins befriending humans
reach far back into history and even
scholars such as Aristotle has written about
it.

B. The surfers are afraid of the dolphins as
when a pod of dolphins sees a lonely
surfer, they attack the surfer immediately to
protect themselves.

C. According to the passage, a group of
dolphins saved Todd Endris from a sting
ray.

D. Both A and B

E. Both B and C

23. Which of the following statement(s) can
be inferred from the given passage?

I. The passage states that dolphins
reciprocate the act of kindness if human
beings are kind to them.

II. The passage states that after a lot of
research, scientists have finally found out
why dolphins are extremely close with
humans.

lll. Dolphins are creatures of the wild and
they might turn wild if they are attacked.

A. Only |
B. Only I
C. Only 1l
D. Both | and Il
E. Both Il and Il

Direction: In the given question, five words
are printed in bold and are numbered A, B,
C, D and E. The position of some
highlighted words may be incorrect and
need to be exchanged with another
highlighted to make the sentence correct.
Find the words that need to be exchanged.
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In case the given sentence is correct, your
answer is (E) i.e No exchange required.
24. The path (A) to receiving (B) the
consular access, which should have been
bitterly (C) provided shortly (D) after the
arrest of Kulbhushan Jadhav, had to be
technically (E) fought for by India.

A. A-D

A-B and C-D

. C-E

. B-C

No exchange required.

moow

Direction: In the given question, five words
are printed in bold and are numbered A, B,
C, D and E. The position of some
highlighted words may be incorrect and
need to be exchanged with another
highlighted to make the sentence correct.
Find the words that need to be exchanged.
In case the given sentence is correct, your
answer is (E) i.e No exchange required.
25. The FIR against a journalist who called
(A) attention to the reeks (B) mid-day meal
that was being (C) provided to children in
a school in Mirzapur, substandard (D) of
official high-handedness (E).

A. D-E

B. C-D

B-D

A-D

No exchange required.

mo o

Direction: In the given question, five words
are printed in bold and are numbered A, B,
C, D and E. The position of some
highlighted words may be incorrect and
need to be exchanged with another
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highlighted to make the sentence correct.
Find the words that need to be exchanged.
In case the given sentence is correct, your
answer is (E) i.e No exchange required.
26. There seems to be no motives (A) so
far to negligence (B) that the journalist and
the panchayat representative had evidence
(C) other than exposing (D) the suggest (E)
of the school officials.

A. B-E and A-C

B. A-D

C.CB

D. D-E

E. No exchange required.

Direction: A sentence with a blank is given,
indicating that something has been omitted.
Choose the word that can be filled in the
blank to make the sentence grammatically
correct and meaningful.

27. can get the better of people
who otherwise are very calm-mannered
individuals.

A. Plunge

Descend

Anxiety

Apathy

Natural

moow

Direction: A sentence with a blank is given,
indicating that something has been omitted.
Choose the word that can be filled in the
blank to make the sentence grammatically
correct and meaningful.

28. An art expert will evaluate the painting
before it is placed in the museum to make

sure it is not a
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Ledge
Counterfeit
Plead
Seldom

moowp»

Infrequently

Direction: A sentence with a blank is given,
indicating that something has been omitted.
Choose the word that can be filled in the
blank to make the sentence grammatically
correct and meaningful.

29. As Rajan just purchased a new
Cadillac, he was ___ to have a valet park
it.

Reluctant

Redolent

Aromatic

Tangled

Chaotic

moow»

Direction:  Given below are three
statements, of which some may be
incorrect. Identify the correct statement(s).
30. I. The mosquito larvae grow by
consuming microorganisms that decompose
decaying plant material as algae and
microbes.

II. Mosquito larvae grow by consuming
microorganisms such as algae and
microbes that decompose decaying plant
material.

lll. Decomposing of decaying plant material
that is consuming microorganisms such as
algae and microbes are main source of
food for mosquito larvae.

A. Only |

B. Only Il

C. Only I

Officer & Assistant Course (in Hindi)



http://www.gradeup.com/

www.gradeup.co

D. Both | and Il
E. All of these

Direction. Given  below are three
statements, of which some may be
incorrect. Identify the correct statement(s).
31. I. According to the Gandharan Buddhist
manuscripts, the origins of Mahayana
Buddhism is not what are leading scholars
to rethink.

II. If the Gandharan Buddhist manuscripts
are to be believe, then the scholars might
had to rethink about the origins of
Mahayana Buddhism.

lll. The Gandharan Buddhist manuscripts
are leading scholars to rethink the origins
of Mahayana Buddhism.

A. Only |

B. Only 1l

C. Only 1l

D. Both | and 1l

E. All of these

fAder (32 - 41) : s U v ey @&
eeIgsh 9feU AR 3@ W MR o= &
3 QS|

HEICAT aliell &1 g e uron &Y T Teg &r
wpid dfas, giow, S, e qur &
IOT e gt 3R Al B R TS
Searehd, dle @ IR FIfSd &7 @ G *r
wfafifica sar &1 safdd & 919 ar 3TcAT &
fohrg T TF ARG AfeT T T B
Tg 9l Pl TEAT & 9T slgr L IrdT Fifeh
s gl & fFar @« amaRa gl

arEdd # I & TeT HT Thid dUT HISeT
TFe-t AaRt W 7 Fdd ARAT Tadeddl
TATA & SIerers ARG, IS aar Ee S
RA golg IR SreeemR fdes Td drer
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Aed T S IRAGT ddT 3Rfdeg &
Theel Tsearedt &1 A yara or, sfes 3o
Rieasr w ol gud, ffeer, b, 3R
quT Ik FIIRURIAT &1 Fose B9 fe@rs usch
gl AN & T d ypfd T Hared A @
FEIATHT, FEpfadl @ framurist & 3efse
TETO 1 GeIafedud TFAMEY TUT FEAHN0T
fRerar g1 el fr AeTar 37 919 W 3maRda
At 5 3% T H AGY TsT 3o THT
Tl YT AAAT SaEAI3T @ AHWh Farey,
GaEPd YT Asead gl fh 3eglel 370el 3mee
TS H ATUROT H 37 FfT Teal &r 3aR
o, 9= 3 3uged @aga & 3R 3 gaar
faersifer &1 oo 3 3gfRa qur s=araqe
HAd J|

HETCHT el o o, TORISA, IcHASAT TAT 3T
TETRT H, 3 e AT HT HRIGET & FoTeT
frar § fTadhr TUT9=T #1358 Iegia A
AHA I@T A7| aead H It e war s
UEd ¥ ST WA caHFUed, HUlcHS Ul
TATRIET gl 3eTeh IHJAR SAfFd W AT &M
UHTT glivieRe § 3¢ Jg T A1 & T
AT & fgdl & WETd & A W 38
HRPRT @l @G N ol Th faemend 6
Fufa # afFa &1 U= & 3rcemg g Sreen
St fh 3o ITER TS saae [Eufa gel
HETcAT T o TR foram § o T 1 3%
arar fh g Sieldr &1 dar #ar g, foopd
R g, Sefeh I8 TS § 9T SanT 3ol
I F TUT ) AV 3FOw fRar Srar g
ST aEdd H 37 Ufhar & 3eddid AAIdr
# welftw @ wgmar § #§ fege &
AR AN T ardifdd  IRTShdEeT &
FAifh 30T AlTar oAF 5 T@ofr csafFaar &
el Ra el Tsafdla goias & &
TFHT g1 N & IoT HT FFTYROT H Th g
Teos &9 & T g S 18 J=r, g,
Siel, FARTery, Ta2imel s dUT 93 3¢AN-4eY
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e BTl WAT 1 IS dooIehiol gl gram|
Siiael @Ter 3R @EIAT Sgrar grefll 39 UK
IAH qUIA: HTcHTAIR TAT FATIARAE grar, el
arEdfas TS T wied g@ef| sud sedeta
TS e el @I foheq 3HeR AT Efer
# grfl| el GUR 3¢ T A HE HLN|
S &7 TST T A Steldliedeh o gHE|
BT A% Afdd Tad UST qrEe geml d
39 FATERT IsT H NF TAAT &
gaTeR | % AT & JAAIT § T F
foT qica 3R deqfad #ee, & & o
3T #AF 3R MR ot F v aicT @)
T Ig A W & F 3% Tao1 & fgas
Jolldifedeh Iod H ARG SHAEER, s
3R AR gl

HEIcAT Iy JUrdarer &, g Ig TS Toh foh
Th ToTeT AR T AT Tesl aieh &
Ted g1 foRar ST Hehcll| Teh XHR <feh Fofr
antt @ gfafafcs & 8, 3 @8 i
HigES G & Hehell| 3ogial el AT “3TeT H
UH TGO T FHodll Al BT Hebel, Tohe] A
qUTAd: 3fgae FHATST HT TFATEAT H AT
faRarer &ar g1

32. el S AR AT T giAdre v @
menfka 82

A. & @ 3maia §

B. EAT WX MR &

C. TRETOT 9X 3menia &

D. T W 3meaid &

E. 5T & g =gt

3339 IR & AR, IS FATAAT
F T I g -

1@ & T gdiea HieT &

231K ool & AT gITed @y

3.8 & fow 3T #Ae= 8

A 13k 2

B. 2 3R 3
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C.13R3
D. 1,2 3k 3
E. 378 & Hlg =T8T

34.FETcAT LN & TsT HT T AT Hra=T
graee JORY & GFaey H I HT g7
A. 3ARST aur fre GaRuRT $r Tose o
fe@rs gsch &

B. ool dloldd IT S hee JIsgariedr &r
3ifAe gma o)

C. Terems AR S IRA oy & 3ifAc
g 2T

D. 3Rfdeg O ST A gairg &1 A Toa
o)

E. 517 & 15 el

35. 4. I ST & AR, AEATIH TR AT
uIfeT & g dehdll o7

1. o9 A qUId: AR T Fargaemar
gl

2. Sfaet @rer 3R Fgar el gl

3. TAT & HIS HoglhI0T AT 19|

%T HT JANT F §T W 3R T TAT P

A 121d 3

B. &hadl 1
C. ad 2
D.11d 3
E.1ud 2

36. el S gEmr gEdwr A aftta '3mest
TSI T TUIAT HT 36T FIT AT?

1. SEH TAT HT HIS Fealehlvl el gram|

2. {9 T¥cd HFY, HulcHAs Ul ad f@wger
Tl

3. 3fgTs Seidifeash ToT STgl T afFd
T 39T ATHE From|

A 2Td 3

B.11ud 2
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C.1wad3
D.1, 2w 3
E. 5787 & &I 18T

37. I F IAAR, AP F IsT H
37l ST FiTaE FRUfa e 3cdeet g dahalr
g2

A. SIF T HJST & gl & TeTh & A
W 386 AUGRT H Eg H &I

B. S U AJST & fRdl & &ateh & oA
R 394 ASHRT FI Aged ¢Im

C. TSI &1 Ig &1l foh ag STAdT T Jar adm
¢

D. 3uderd |sfr

E. 58 & &I e

38. HElcHT el & 3EER, fhd R &0
AT TgoT dlieh & UTcd gl fhdT ST FhdT?
A. 3AER 3R fonsile A

B. 3MTcATRTAT 3R eAfaRder qaTst

C. T8 3R T FATS

D. 3ifgae 3N Fodiepd FATS

E. 58 & &I e

39. 3UYFA I & IFER, AT H 58
erse, T TAUAIARNY 2leg TATST|

A. &

B. 7

C. Y

D. el

E. dde

40. YR=OG @I LA A Ygad Ig Jd1sT &
AAfa S fFa G St S @ 872

A. &Y

B. g&r

C. sriferqoT

D. faarer
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E. defoRr

41. 3T I & AR, Pl @ AT Fedllt
Fr a1 Fr TS 8?2
A) &

B) &gl

C) gl

D) HAATAT

A. Fad A

B. A 3R B

C.A B3R C
D. &aa C

E. g1 & el

42, fard # @ frE e A2 9¥ea aw
(35cgE1EN) HART AT & ?
A. 10 SeIT$

B. 10 {S
C. 27 R{aFsR

D. 25 RAdsR
E. g1 & @IS =g

43. fArAfaf@d & & fFg gy o 2019 &
el §3 IR P aw wdwA Hr
AsTarer Hr?

A. geaT

B. 31gHAcETG

C. PIclehrdr

D. I

E. #qFe3

44. TS 9 3399 2019 H HRA &1 ¥&
T 7
A. 145
B. 141
C. 100
D. 102
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E. 3RFd H & Hls AG/FRIFd H T Th &
3t

45. TS (TRIATS T4 deh) &1 HEATOT FHgl
g2

A. Helter, el

B. difiered, JuaT

C. #sigees, quaT

D. fS=tar, Racsrels

E. gErg, et

46. derer U TR Rold WRd & fofd
Tsg # ffua g2

A.

B. #AGRITSE

C. ghRarom

D. #ET geer

E. 58 & &I e

47. 9RO, af 3R STorarg aRacsT HA el
&7

A. 3T, g¥aye

B. Yehrel STasshi

C. wxfa &l

D. Ugalig el

E. =g g d

48. Tolige U gsad 2019 Fr RATE gEdege
BR SHIATAFT U5 9 GaRT YR FHr a5
gl g BN gEEAFE Us 9 @l
AT #H B

A. =i, JTH.T

B. Rsstr, sireciomr

C. gfeid, =T

D. 94, Wi

E. rdiesdl, [Eagerels
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49. T JSRAE % g9’ AHS TEAH &
AGH FieT § ?

A. FTIAIRT HGITA
B. 3Rfdeq Hfsam
C. oA @3

D. sr& JaTAT

E. Hilary Clinton

50. #Rc gfasfa 3R Rfasa 1S (SEBI)
F AT HETeT HieT Fo1?

A. T.S. asrgeT

o e

. e o

. 31T el

U.K. [&=er

moow

51. AIRd o faeat & @ 5w wge & aifsar @
qifsq gl & T 3wer gger @YW
gESNTT 3UAR g Trelm 87

A. TG

B. gedETE

C. mifew

D. J[argry

E. fRremar

52. HtYX wicde H Teh BRRAIS T §7?
A. HI Acash Teh TR e

B. dcash &1 iR e

C. & a9 s3I AedR

D. 3T IYANT AT Ashed & AT ST a7
Teh YoTTell

E. 517 & 15 el

53. fae & & FiA @A Fizss SeIeic FAFUT
F Th JhR =TeT 87

A. FEd

B. Sitava

C. SA-319
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D. #camse
E. 5987 & &I 18|

54. UFdd H, Ig UH MRFfSF wrfer § S
Sfeer AT & fow eandde verd T gl
A. deg

B. 3rer ARkt

C. el

D. e

E. 518 ¥ FIg el

55. ¢ Y YER & dgF I Hl
T3S FS F s B

BUS

CPU

UsB

MIDI

MINI

moow»

56. T compiler g5 oddl oddel H for@ v
QI # 3rgaried ST gl
A. 7efieT ofeast

B. TcalReH

C. T& 398 YA

D. Jrar

E. 51 ¥ FIg dl

57. SHA YOGl H U 3IWC WHlest 3Tolsy
T & 36T FAT g ?

A. 3T $AT FI AT BT

B. TH AT & I FLAT

C. 9¥d s &I 9id A =T

D. f3efic sAa & §ag e

E. s & &I e
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58. Sc¥ele 3 3R gee & &1 &l
IEA THH F AT T

A. TS T TeThlel

B. Sl.UA.TH

C. Acash TTSH Weldid

D. 3=c¥eic Ret de

E. 5981 & &I el

59. PROM T qUT &9 T §7?
A. Programmable Read Only Memory
B. Progressive Read Only Memory

%)

periodic Read Only Memory

o

Perfect Read Only Memory

m

Program Read-Only Memory

60. oAy T & f3ofigel foham g3M FregeX &
ST 31 Sifeer 0T I 8 g5 ol & el
3

. HeTha
. ETH A FIg QT

moow >
%ﬁ

61. 3TSCeh 31 YUl &l YR FIAT g2
A 8
B. 16
C. 32
D. 64

E. 517 & 15 el

Officer & Assistant Course (in Hindi)



http://www.gradeup.com/

www.gradeup.co

$

gradeup

## #ANSWERS# # #

1. Ans. D.

1) F sits in the middle of the row.

2) The one, who is sitting opposite to F,
sits three places away from S.

3) U sits four places away from S.

4) Three persons are sitting between D
and the one, who is sitting opposite to U.
5) Four persons are sitting between G and
D.

Case 1

LA = —
-
-
-

D
AR RN
l

6) The one, who is sitting opposite to G,
sits three places away from T.

7) Two persons are sitting between R and
Q.

8) F is not sitting opposite to R.

9) The one, who is sitting opposite to T,
sits two places away from C.

10) V sits to the right of P.

11) Three persons are sitting between B
and A, which is sitting to the right of F.
12) E and P are not sitting opposite to
each other.

(Here, case 1 will be eliminated)

A G

C
'
I
u

Lﬂ—rq—D

= —* +—m

F B
Vo
I 1
Q T
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Therefore, option D is the correct answer.
2. Ans. C.

1) F sits in the middle of the row.

2) The one, who is sitting opposite to F,
sits three places away from S.

3) U sits four places away from S.

4) Three persons are sitting between D
and the one, who is sitting opposite to U.
5) Four persons are sitting between G and
D.

Case 1

W — +— 0
-+~
-
+—

D
LLoL L
l

6) The one, who is sitting opposite to G,
sits three places away from T.

7) Two persons are sitting between R and
Q.

8) F is not sitting opposite to R.

9) The one, who is sitting opposite to T,
sits two places away from C.

10) V sits to the right of P.

11) Three persons are sitting between B
and A, which is sitting to the right of F.
12) E and P are not sitting opposite to
each other.

(Here, case 1 will be eliminated)
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Therefore, option C is the correct answer.
3. Ans. D.

1) F sits in the middle of the row.

2) The one, who is sitting opposite to F,
sits three places away from S.

3) U sits four places away from S.

4) Three persons are sitting between D
and the one, who is sitting opposite to U.
5) Four persons are sitting between G and
D.

Casel

L = e
-
-
—

6) The one, who is sitting opposite to G,
sits three places away from T.

7) Two persons are sitting between R and
Q.

8) F is not sitting opposite to R.

9) The one, who is sitting opposite to T,
sits two places away from C.

10) V sits to the right of P.

11) Three persons are sitting between B
and A, which is sitting to the right of F.
12) E and P are not sitting opposite to
each other.

(Here, case 1 will be eliminated)
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Therefore, option D is the correct answer.
4. Ans. D.

1) F sits in the middle of the row.

2) The one, who is sitting opposite to F,
sits three places away from S.

3) U sits four places away from S.

4) Three persons are sitting between D
and the one, who is sitting opposite to U.
5) Four persons are sitting between G and
D.

Case 1

W —* +— 0
-~
-
-

D
VLol
L

6) The one, who is sitting opposite to G,
sits three places away from T.

7) Two persons are sitting between R and
Q.

8) F is not sitting opposite to R.

9) The one, who is sitting opposite to T,
sits two places away from C.

10) V sits to the right of P.

11) Three persons are sitting between B
and A, which is sitting to the right of F.
12) E and P are not sitting opposite to
each other.

(Here, case 1 will be eliminated)
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Therefore, option D is the correct answer.
5. Ans. C.

It means S is a male then S is nephew of
0.

Hence, option C.

T is father of S. Q is mother of T. M is
grandfather of S. P is sister of M. Q is
mother of T so Q is wife of M. O is brother
of T. R is uncle of O. R is not brother of M
so R is brother of Q. N is sister-in-law of
O so N is wife of T.

P(-}— M(:}/—- Q(-}—R(+)
D[+}—T[+JTN[-]
S(+/-)
6. Ans. D.

P is sister-in-law of Q.

Hence, option D.

T is father of S. Q is mother of T. M is
grandfather of S. P is sister of M. Q is
mother of T so Q is wife of M. O is brother
of T. R is uncle of O. R is not brother of M
so R is brother of Q. N is sister-in-law of
0O so N is wife of T.

P(-}— M[J;}/—' Q(-}—R(+)

D[+}—T[+]T>NH

S(+/-)
7. Ans. E.
The new number formed after
rearrangementis64798325
The seventh digit from the right end is 4.
The third digit to the right of 4 is 8.
8. Ans. C.
P’s weight must be in the range of 55-69
then P’s weight is 62 kg.
Hence, option C.
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The one who is 2" heaviest is 72kg and
the one who is 2™ lightest is 55kg. T is
69kg. It means at least two persons are
heavier than T. P is heavier to R but
lighter to T. R is not the lightest person.
It means,
_ >72>T(69)>P>R(55)>_
The number of person is heavier to Q is
same as lighter to P. Two persons are
lighter to P then Q is 72 kg. S is not the
heaviest then U is the heaviest and S is
the lightest.
Here is the final arrangement-
U>Q(72)>T(69)>P>R(55)>S
9. Ans. B.
One person is heavier to Q.
Hence, option B.
The one who is 2" heaviest is 72kg and
the one who is 2™ lightest is 55kg. T is
69kg. It means at least two persons are
heavier than T. P is heavier to R but
lighter to T. R is not the lightest person.
It means,
_ >72>T(69)>P>R(55)>_
The number of person is heavier to Q is
same as lighter to P. Two persons are
lighter to P then Q is 72 kg. S is not the
heaviest then U is the heaviest and S is
the lightest.
Here is the final arrangement-
U>Q(72)>T(69)>P>R(55)>S
10. Ans. A.
If Rahul goes 5km to the east from the
office, than he will be in 7 km at South
direction from point D.

]EIZ — Gkm D—4km— G

Tkm 12k
I
Office - F A
S5km
C 4km B
11. Ans. B.

% of shoes | Total no. of shoes | % of leather | Total no. of | Total no. of
(Synthetic + (Synthetic + shoes leather synthetic
Brand leather) leather) shoes shoes

A 28% 3360 23% 1104 2256

B 9% 1080 15% 720 360

C 20% 2400 20% 960 1440

D 18% 2160 12% 576 1584

E 25% 3000 30% 1440 1560
Total 100% 12000 100% 4800 7200

Total number of synthetic shoes
manufactured by given 5 brands = 12000
- 4800 = 7200
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Total number of synthetic shoes
1152

manufactured by brand F = 80 x 100 =

1440
Hence, the required percentage =

1440 2
(7200 + 1440) x 100 = 163 %.
12. Ans. C.

% of shoes | Total no. of shoes | % of leather | Total no. of | Total no. of
(Synthetic + (Synthetic + shoes leather synthetic
Brand leather) leather) shoes shoes

A 28% 3360 23% 1104 2256

B 9% 1080 15% 720 360

C 20% 2400 20% 960 1440

D 18% 2160 12% 576 1584

E 25% 3000 30% 1440 1560
Total 100% 12000 100% 4800 7200

Total number of shoes (synthetic +
leather) manufactured by brands A, D
and E together = (28 + 18 + 25)% of
12000 = 8520

Total number of leather shoes
manufactured by brands A, D and E
together = (23 + 12 + 30)% of 4800 =
3120

So, total number of synthetic shoes
manufactured by brands A, D and E
together = 8520 - 3120 = 5400

5400
Hence, the required average = 3 =
1800.
13. Ans. D.

% of shoes | Total no. of shoes | % of leather | Total no. of | Total no. of
(Synthetic + (Synthetic + shoes leather synthetic
Brand leather) leather) shoes shoes

A 28% 3360 23% 1104 2256

B 9% 1080 15% 720 360

c 20% 2400 20% 960 1440

D 18% 2160 12% 576 1584

E 25% 3000 30% 1440 1560
Total 100% 12000 100% 4800 7200

Total number of shoes (synthetic +
leather) manufactured by brand A in
2017 = 28% of 12000 = 3360
Total number of leather shoes
manufactured by brand A in 2017 = 23%
of 4800 = 1104
Total number of synthetic shoes
manufactured by brand A in 2017 = 3360
- 1104 = 2256
Total number of shoes (synthetic +
leather) manufactured by brand A in
2018 = 3360 + 25% of 3360 = 4200
Total number of synthetic shoes
manufactured by brand A in 2018 =
4200 + 876

2 = 2538
Hence, the required ratio = 2256 : 2538
=8:0.
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14. Ans. B.

Let the total number of students in the
college = 100x, then

Total number of eligible students = 100x
- 40x = 60x

According to question

60x — 48% of 60x = 9828

= 60x - 28.8x = 9828

= 31.2x = 9828

= x = 315

Hence, the total number of students in
the college = 100x = 31500.

15. Ans. B.

Let P be the present years, then
A:Bat(P-5)years=16:5(16 = 3.2
x 5)

A:Bat(P+ 7)years: 20:9

According to question
20-16=9-5— (7 + 5) years

=>4 — 12 years

= 1 — 3 years

5 years ago, sum of ages of A and B =
(16 + 5) x 3 =21 x 3 years = 63 years
Hence, sum of present ages of A and B =
63 + (5 + 5) = 73 years

16. Ans. C.

Given, A+ B + C = 106 years

A+ B = 78 years

> C =106 - 78 = 28 years
=>B=(A+B)-A=78-32 =46 years
Hence, the difference of ages of C and B
=B-C =46 -28 = 18 years

17. Ans. A.

Total number of males and females, who
received the 2" prize is 7500. So, total
number of males and females, who
received the 15t and 3™ prize = 30000 -
7500 = 22500

Let the 5x persons received the 3™ prize
As number of persons, who received the
1%t prize are 600 less than the 2/5%™ of the
number of persons, who received the 3™
prize, then

[ e8]

22500 - 5x = 3x 5x - 600

A 7x = 23100

A x = 3300

Number of persons, who received the 3™
prize = 5x = 16500

Number of persons, who received the 1%t
prize = 22500 - 5x = 22500 - 16500 =
6000
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Ratio of number of males, who received
2" prize and number of males, who
received 3™ prize is 3 : 8 and total 13000
females, who received the 2" and 3™
prize
So, let the number of males, who
received 2" prize = 3a and number of
males, who received 3™ prize = 8a
(3a + 8a) + 13000 = 7500 + 16500
A 11a = 24000 - 13000 = 11000
A a = 1000
So, number of males, who received 2"
prize = 3a = 3000 and number of
females, who received 2" prize = 7500 -
3000 = 4500
Number of males, who received 3™ prize
= 8a = 8000 and number of females, who
received 3™ prize = 16500 - 8000 = 8500
Let number of males and females, who
received 1%t prize be m and f respectively
Given, total number males received the
1st and 2"9 prize together is 500 less than
the total number females received the 15t
and 2" prize together.
(f + 4500) - 500 = (m + 3000)
Af-m =1000 ... (i)
We have already calculated that
Af+ m=6000 ... (i)
On solving equations (i) and (ii), we get
f = 3500 and m = 2500

15t zmi 31":1
prize | prize prize

No. of male 2500 3000 8000
No. of female | 3500 | 4500 8500
Total number | 6000 7500 | 16500

Required number of males = 2500 +
3000 + 8000 = 13500.

18. Ans. C.

Total number of males and females, who
received the 2" prize is 7500. So, total
number of males and females, who
received the 1%t and 3™ prize = 30000 -
7500 = 22500

Let the 5x persons received the 3™ prize
As number of persons, who received the
15t prize are 600 less than the 2/5% of the
number of persons, who received the 3™
prize, then

| b

22500 - 5x = 5x 5x - 600
A 7x = 23100
A x = 3300
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Number of persons, who received the 3™
prize = 5x = 16500

Number of persons, who received the 1%t
prize = 22500 - 5x = 22500 - 16500 =
6000

Ratio of number of males, who received
2" prize and number of males, who
received 3™ prize is 3 : 8 and total 13000
females, who received the 2" and 3
prize

So, let the number of males, who
received 2" prize = 3a and number of
males, who received 3™ prize = 8a

(3a + 8a) + 13000 = 7500 + 16500

A 11a = 24000 - 13000 = 11000

A a = 1000

So, number of males, who received 2
prize = 3a = 3000 and number of
females, who received 2" prize = 7500 -
3000 = 4500

Number of males, who received 3™ prize
= 8a = 8000 and number of females, who
received 3™ prize = 16500 - 8000 = 8500
Let number of males and females, who
received 1% prize be m and f respectively
Given, total number males received the
1st and 2"9 prize together is 500 less than
the total number females received the 15t
and 2" prize together.

(f + 4500) - 500 = (m + 3000)

Af-m =1000 ... (i)

We have already calculated that

Af+m = 6000 ... (i)

On solving equations (i) and (ii), we get
f = 3500 and m = 2500

1st Znod Frd
prize | prize prize

No. of male 2500 | 3000 8000

No. of female | 3500 | 4500 8500

Total number | 6000 | 7500 | 16500

Required difference = (3500 - 2500) x
500 + (4500 - 3000) x 300 - (8500 -
8000) x 200 = 500000 + 450000 -
100000 = Rs. 8,05,000 = Rs. 8.05 lakh.
19. Ans. A.

Let initial black and red pens be 7k and
11k respectively.
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Tk-12 11
11k-12 19
133%—228 =121k —132
12k =96

k=8
Initial black pen = 7k = 56
20. Ans. B.
PxRXxT
SI= 100
X 25000 X r X3

20 of 25000 = 100

3r
=>X =5
Only option B will satisfy the above
condition.
21. Ans. B.
The passage states that: “Maddalena
Bearzi recalls tailing a pod of bottlenoses
on one grim, foggy morning along the
coast of Los Angeles.” Thus, option A is
false.
However, these herd of dolphins led
Maddalena to "“The dolphins arrowed
about three miles offshore and then they
stopped, arranging themselves in a circle.
In the centre, the scientists were shocked
to see a girl's body floating.” Thus, option
B is true.
The passage is about human and dolphin
interaction throughout history. Thus,
option C is obviously false.
Thus, option B is the correct answer.
22. Ans. E.
The passage in the beginning states that:
“but tales of dolphins befriending humans
reach far back into history. Aristotle
wrote offhandedly about dolphins'
"passionate attachment to boys". Thus,
this makes option A true.
Option B is false as surfers tend to benefit
from the camaraderie they share with the
dolphins. The passage states that there
have been scenarios when the dolphins
have saved surfers from shark attacks.
Option C is false as well because
according to the passage, Todd Endris
was attacked by a great white shark and
not a sting ray. Thus, this is false as well.
Thus, option E is the correct answer.
23. Ans. A.
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The first statement is proved in the
passage. The passage states, “where wild
bottlenoses are regularly fed fish by
people standing in the shallows,
biologists have documented - on 23
occasions - the dolphins reciprocating,
swimming up to offer freshly caught tuna,
eels, and octopi as gifts.” Thus, this can
be inferred from the passage.

The second statement, is however, not
true. The passage in the very beginning
clearly states that scientists haven't
found why dolphins are so amicable and
friendly towards humans. Thus, this
statement can't be inferred from the
passage.

The third sentence can't be inferred
because throughout the passage, there
are no instances where the dolphins have
attacked human beings. Thus, statement
I is the only statement which can be
inferred, and Option A is the correct
answer.

24. Ans. C.

The word ‘bitterly’ should come before
‘fought” to make the statement
contextually meaningful. The phrase
'bitterly fought' means to argue very
angrily or fight very fiercely.

And the term 'technically' means 'strictly'.
Thus, the process should have been
strictly followed.

Words C and E need to be interchanged
in order to make the statement
grammatically correct and contextually
meaningful. Hence option C is the correct
answer.

25. Ans. C.

In the given statement, we need an
adjective before ‘mid-day meal’ where as
‘reeks’ is a verb. In order to make the
statement contextually meaningful and
grammatically correct, B and D need to
be exchanged.

The sentence is about an FIR being filed
against a journalist who complained of
the bad quality of food being given to
kids. ‘Substandard’ can be wused to
describe the quality of the meal and the
fact that an FIR was filed against him for
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exemplifies the arrogant behaviour on
part of those who filed it.

High handedness is a noun which means
condescending behaviour. Hence, option
C is the correct answer.

26. Ans. A.

The statement here explains that there is
no evidence to suggest the motive of
journalist and panchayat representative
other than negligence.

The word B needs to be a verb to make
the sentence correct. The word 'to'
indicates that the verb must be in base
form. Thus, the word 'suggest' fits there
perfectly. Words B and E need to be
exchanged.

Motive means 'a reason to do something'.
'Evidence' means proof. To make the
sentence contextually correct, A and C
needs to be exchanged. As there was no
evidence which could explain the motive.

So, in order to make the statement
contextually meaningful, B-E and A-C
need to be interchanged. Hence, option A
is the correct answer.

27. Ans. C.

The meanings of the following words are:
Plunge: jump or dive quickly and
energetically

Descend: move or fall downwards
Apathy: lack of interest, enthusiasm, or
concern

Anxiety: a feeling of worry, nervousness,
or unease about something with an
uncertain outcome.

Natural: existing in or derived from
nature

The statement talks about a situation
which can make calm people at unease.
Thus, option C is the correct answer.

28. Ans. B.

The meanings of the following words:
Ledge: a narrow horizontal surface
projecting from a wall, cliff, or other
surfaces

Plead: make an emotional appeal.
Seldom: not common

Infrequently: not often

Counterfeit: made in exact imitation of
something valuable with the intention to
deceive or defraud
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Now, a painting can be a counterfeit one.
Thus, option B is the correct answer.

29. Ans. A.

The meanings of the following words are:

Redolent - strongly reminiscent or
suggestive of
Aromatic - having a pleasant and

distinctive smell
Tangled - twisted together untidily

Reluctant - unwilling and hesitant,
disinclined

Chaotic- in a state of complete confusion
and disorder

Since the car was new and costly, Rajan
was hesitant to give it to the valet for
parking. Thus, option A is the correct
answer.

30. Ans. B.

Only sentence 1II is correct. The reasons
are as follows:

I: 'as' is used in comparisons to refer to
the extent or degree of something. But
"decaying plant material" can indicate a
wide range of plans. Algae and microbes
do not fall in this range, and cannot be
compared. So, sentence I is wrong.

ITII: Sentence III uses "decomposing of
decaying plant material" as a subject.
This is subject, which is a process, is said
to consume the microorganism. This is
not possible as decomposing means
breaking down of materials, not
consuming. So, sentence III is wrong.
Hence, the correct answer is B.

31. Ans. C.

Only sentence III is correct. The reasons
are as follows:

I. "origins" is in plural form. So, its
auxiliary verb (is) should also be in plural
form (are). Also, one subject (origins)
cannot have two simultaneous auxiliary
verbs (is, are). So, sentence I is wrong.
II: 'be' is followed by the past participle
form of the verb (believed). 'Might' shows
possibly in future and is followed by
'have'. So, option II is wrong.

Hence, the correct answer is C.

32. Ans. A.

Eqﬁa»—cro I & AR, o dhegihd dlish
¥ IR Ferfea &7 & Far &1 ufafafe wwar
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¢ TiFd & arg o 3eAT gl fahegd T U
3cATIgIT #7MeT AT TRE &1 Tg 39 &l fgar
T 37T TG H AT FAiR sHHT v &
ffar W ameaRa #

33. Ans. D.

3UGFA I & HER, Y ¢ fawedt &
d fasea TEr g1 3w aAEar @ 3fFuT §
Tl & foT 9died 3R Fedfeld dit, =1 &
v 3T #Fe 3R WX eFa F T gaieq
Qe

34. Ans. A.

feu 1w se@ir & IER, W F T H
Uhfc U WIS Feaeell fauRt W o ahddl
AT TIdeadT AT & GIETHTS AR, IS
YT MG S A el 3R FreemR e
T el dohd T AW IRAGT dar
IRfATE SN Hgex Usgariedt w1 A gwE
g, diceh Iofeh fedel W aRweAr Ui,
fofeer, ha, 3ARST dUr I [TaRURTAT & r
Toee o9 fears gsdr Bl

35. Ans. D.

AT c TET & - TAT P HIS hoolhOT Gl
g Shaet aer AR F@eIar Sgrer gl &g
YPR AH QU HCATAIR AT Fargaemdr
greY, a8l areafdes Farsr & wiea gl

36. Ans. D.

ey St & 3TEe o T TUIAT H1 38T
U v wyal & Feafeud o1, s@far @@
3R AFeq 'd' Bl

37. Ans. A.

eIy ¥ g Tose fomar ar § fo amedr St
& 6T AT o ToT AT & Bl & WE@TH H
A WX S 384 HUGRT A g S, dd
IfFd &1 AT & 3l g ATa|

38. Ans. C.

3YYF ST H HGIcAT el JUrdarer &, ag
IJg HS FHh & Te T 3R o
HATST Tl dlieh & UTcd gl fhAT ST ehdT|
39. Ans. E.
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T Feal & f@oed (5) S8 UAsg &l
RuaTaary ar faeads &1 3= erse-

e IEEIE L
Afeer el

R e

STel il

el hleT

40. Ans. A.

39ded aR=oe & AR, AATT S i Shast
Fecye HATd Feceraed foigelr St Wr oo,
Fifer 38 e &7 AAfT AR A S A7
FIHT AlhSh BT IRELT HT FACYT gl

41. Ans. C.

39 A A AT, Hoell 3N Fgell S
deat T a1 @1 a1 g 37 fahed (3) gl
42. Ans. C.

The World Tourism Day (WTD) is being
observed annually on 27th September to
raise awareness about the importance of
tourism.

43. Ans. D.

The main event of International Day of
Yoga 2019 celebrations was held at
Prabhat Tara in Ranchi (Jharkhand) on
21st June 20109.

This year International Yoga Day of 21st
June of Ranchi would be eco-friendly and
hence Khadi Yoga Mat would be used, in
place of the usual rubber mat.

On 11th December in 2014, the United
Nations General Assembly declared June
21st as the International Day of Yoga.
2019 Theme: Yoga for Climate Action
44. Ans. B.

Australian think tank Institute for
Economics & Peace has released the
Global Peace Index (GPI) 2019. The
report revealed that since 2008 global
peacefulness has deteriorated by 3.78
per cent. India's ranking in the index has
slipped five places to 141 among 163
countries.

Iceland remains the most peaceful
country in the world, a position it has held
since 2008. It is joined by New Zealand,
Austria, Portugal, and Denmark.
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Afghanistan is now the least peaceful
country in the world, replacing Syria,
which is now the second least peaceful.
South Sudan, Yemen, and Iraq comprise
the remaining five least peaceful
countries.

In South Asia, Bhutan topped the index
with 15th rank, followed by Sri Lanka 72,
Nepal 76 and Bangladesh 101.

Pakistan has been ranked 153™ in the
index.

Countries with the highest risk of
multiple climate hazards - China,
Japan, India, Philippines, Myanmar,
Vietnam, Indonesia, Pakistan and
Bangladesh (total 9 countries)
Countries with the Ilargest total

military expenditure - US, China,
India, Russia and Saudi Arabia.
45. Ans. A.

The headquarter of ADB (Asian
Development Bank) is in Manila,
Philippines.

e The Asian Development Bank (ADB) is
a regional development bank established
on 19 December 1966.

e The company also maintains 31 field
offices around the world to promote social
and economic development in Asia.

e The motive of the ADB is to ‘Fighting
poverty in Asia and the Pacific’.

46. Ans. B.

Tadoba Andhari Tiger Reserve is a
tiger reserve in Chandrapur district of
Maharashtra state in central India.
Note:- It is notable as Maharashtra's
oldest and largest national park.

47. Ans. B.

e Prakash Javadekar is currently serving
as the Minister of Environment, Forest
and Climate Change and Minister of
Information and Broadcasting.

e He assumed the office on 31st May
2019.

e He was elected to the upper house
Rajya Sabha as a Member of Parliament
from Maharashtra in 2008, and re-elected
from Madhya Pradesh in 2014.

48. Ans. B.

e This is the thirteenth edition of the
Global Peace Index (GPI), which ranks
163 independent states and territories
according to their level of peacefulness.
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e Produced by the Institute for Economics
and Peace (IEP), the GPI is the world’s
leading measure of global peacefulness.
This  report presents the most
comprehensive data-driven analysis to
date on peace, its economic value,
trends, and how to develop peaceful
societies.

e Institute for Economics & Peace (IEP)
headquarter located in Sydney, Australia.
49. Ans. D.

The book ‘The Audacity of Hope’ has been
written by Barack Obama

50. Ans. D.

The Govt. of India recently appointed
Ajay Tyagi, additional secretary in the
finance ministry, as the new chairman of
Securities and Exchange Board of India
(SEBI). He has taken over charge from
U.K. Sinha.

51. Ans. A.

India has opened its first specialized
hydrotherapy treatment for elephants
suffering from arthritis, joint pain and
foot ailments near the Wildlife SOS’
Elephant Conservation and Care Centre
(ECCC), which currently houses 20
rescued elephants and is run in
collaboration with the Uttar Pradesh
Forest Department and the NGO Wildlife
SOS.

e Situated on the banks of the Yamuna in
Mathura, the new hydrotherapy jumbo
pool is 11-foot-deep and has 21 high
pressure jet sprays that create water
pressure that massage the elephants’
feet and body and help in increasing
blood circulation.

52. Ans. D.

Firewalls are frequently used to prevent
unauthorized Internet users from
accessing private networks connected
to the Internet, especially intranets.

53. Ans. C.

Broadband is a wide bandwidth data
transmission with an ability to
simultaneously transport multiple signals
and traffic types. The medium can be
coaxial cable, optical fiber, radio or
twisted pair. Dial-up Internet access is a
form of Internet access that uses the
facilities of the public switched telephone
network (PSTN) to establish a connection
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to an Internet service provider (ISP)
by dialing a telephone number on a
conventional telephone line.

54. Ans. C.

Function is a prerecorded formula that
provides a shortcut for complex
calculations

55. Ans. D.

A MIDI (Musical Instrument Digital
Interface) interface is a device that
provides MIDI In/Out to and from a
computer or MIDI-equipped hardware via
standard 5-pin MIDI jacks.

56. Ans. A.

A Compiler is a computer program
translate source code from a high-level
programming language to a lower level
language (assembly language or machine
code).

57. Ans. A.

A draft is simply an email message you
haven't yet sent. It's not the same thing
as an email waiting to be sent. This act
places the message into the Drafts
folder.

58. Ans. B.

The Domain Name System is used to
translate Internet domain and host
names to IP addresses. It uses a
distributed database to store the
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combination of name and address
information.

Note: DNS converts the domain names
we type in our Web browser address bar
to the IP addresses with the help of a
name server.

59. Ans. A.

Programmable Read-Only Memory
(PROM) is a type of read-only memory
that can be modified once by a user.
Standard PROM can only be
programmed once because PROM
chips are manufactured with a series of
fuses one programmed, it remains there
forever

60. Ans. B.

A supercomputer is a computer with
great speed and memory. This kind of
computer can do jobs faster than any
other computer of its generation. They
are usually thousands of times faster
than ordinary personal computers made
at that time.

61. Ans. A.

e The base of the Octal Numeral System
is 8.

e Octal system uses digit from 0 to 7.

e Octal numerals can be made from
binary numerals by grouping consecutive
binary digits into groups of three.
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